ARE THEY VERTEBRATES?

Put a tick in the correct answer Pon un tick en la respuesta correcta
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It's a brown dog.

(O Vertebrate.
O Invertebrate.

It's a brown horse.
(0 Vertebrate.
O invertebrate.

It's a green tortoise.

(O Vertebrate.
O Invertebrate.

It's a black ant.
(O vertebrate.
O Invertebrate.
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It's a grey cat.
(O Vertebrate.
O Invertebrate.

It's a long worm.

(0 Vertebrate.
O Invertebrate.

It's a green frog.
(O Vertebrate.
O Invertebrate.

It's a blue butterfly.
(O Vertebrate.
O Invertebrate.



